Directisns—i0. 1-51 What will

coma in place of questions-mark (7] in

the f::-lEnw'i'ng questions 7
Lo {196)° + (27407 w (140 + 1007
- (1472
{A] 3 (B) 2
) 4 (o 7
(E] Moo of these
LoeTS ofvETE = 00 =P+ 577
{A) 1170 (B 1165
) 117a (D 11
(E} Moewe of these
i 1.I'r123x:-1=5-i5}3 F149E=
[A] W5 (B) 25
i) 5 (N 825
(E} (625F
4. 5 Hroes of 855 of 10620 =7 x (]
(A) 4520 B 4522
1} 4522 (Y 4522
(E} MNome of these
5 oGae 621 f (1215 =M 2T

(A 14 (B} 149
iC) 3 (d) 7H
[E} Moaw of thesie

[rrections—i0. 6=110) What

approximate value will come i place
of question-mark (7} in the following
q1.1|.'~_'£|:i|;|11:¢':'

[You are m:tuxpn::l:-:-d bes sl Lk
the exact value,)

B 29% of 300 1+ 105 of 388

|

0 =?
[A) 750 (B el
() B30 D} 250
(E} 500
(ViTh e 567 + VT =2 x4
[A) 20 {B) 38
() 450 (O 320

(E} ed0

E:

10,

ToF 23 &3

R g

{A] 11M) (B 1450

(C) 1660 (D) 1240

{E} 1350

(I8 11F = (14907 + (68
=7 = {111

(A] B0 {B) 240

() 320 (I¥ 40

(E} 5&0

Habh = 30 =45 =P |0

{A) 400 {E) 350

(] =0 ([¥ 250

{E] &0

F]iTI.'-..li:!I'l‘l—{l:r. 11-15] What

will come in place of question mark
(1 i1 the following ruember stries

11.

14.

15.

232 357, 60-7. 082, 1452, (7]

[A] 2102 (B) 1122
1 ey 1 (o 21z7
{E} None of these
221,437, 433, 578, 3, (7]
{A) 605 (B 6ll
) B23 (L) Bl

(E] Mo of these

o34 22, B4, (7, HALL B4

[A] H& B 714
1C) 324 (I 34z
(E} More of these

121, 197, 311, 463, 653, (1)
{A] 73 (B) 877
() BAS (D) BA1

(E] Mo of these

16, 163-2, -6, 126-4, 108, ()

{A) o2-4 (B} 924

() 1214 (¥ 1172

(E] Mone of these
Diirectipns=—{C. 16=-20) In the

Foflowing questions numbered | and
Il are given. Yoo have te sobee boeth
the equabions and give arswers iF—

L3

14,

21,

23

(Ad x = i

(B} x = ¢

(©) x <y

o v = 1

{E} = = y orthe relationship
carmot be established

S N B Y L A b Vo L ()

B V56 y¥ = G87 ~ 587
12 4 .
L —+—=—=[pc
T
m v* -7 =0
I, A5v = 1505+ 340 + 148 - 10x
L By—104="5y+373

I =2-19x+8d=10

0 -2 +91 = 0

L Bx+y=23

0, 6 (5 + Gyl =270

What will Yo ohtamm i the area
of a rectangle of length 33 cm
and breadth 13 cmis added b the
area of a square of side 19 om 7
{A) 680 sg o

{B} T80 sqom

I T e

(LY 790 sq cm

{E} MNome of these

The perimeter of a rectangle s
seven times the swle of & square.
Area of the squane 5 576 sq cm.
Length of the rectamgle is 56 o,
YWihat is the area of a circle whpse
radius is equal to breadth of the
rectangls ?

(A) B s em

(B} S

(T} M6dsqem

l:l'fr:l (Canmat be determimed

(E} Mome of these

A milkman sells cow milk at the
rate of © 65 per litee inclading a
profit of 12 per cent, He alss sells
buffalo milk at the rate of T 36
per litte including & profit of



20%. How much profit will he
earm im fve d:u}':.' if b sells r*iﬁhr
litre=s of conw milk and 10 litres of

basfEalo milk peT |:|.:|:,- ?
(A} T 832 (B} € 624
(0 € b (0 © B4z

{El Mo of these

- Anubhav's present age is four

Himes Amil’s present age and
four-fifth of his father present
age. Thiz sum of the present ages
of all of them is 160 years. What
is the difference bebwesn Amit's
present age. and  Anubhav's
father's present age 2

{A)
{B)
{Z)
L
{E]

Arun gof a monthly increment of
15 per cent of Suresh’s mon thly
i before increment. Suresh
mota monthly increment of 15
per cend of Armn’s monthly in-
cmme before increment. Sareshs

v YUATE

48 YroATs

[ata] Yoars

Canmot be determined
Mone of thise

momthly income @5 © 15, (HNL
What is the total monthly income
of both of them together afber
imcrement ¥

(Al © 42800

{B] T 34,500

{C) € 36460

1 Carmot be determined

{El  Mone of the=e

Directions—i(Cr 26-30) Each of

the questions below consists of 8
question and two statomenls num-
bered 1 and I given below it You
have b decide whether the data pro-
vided in the statements are sufficient
tor answer the question. Read both the

statements and give mswer—

{4} If the data in Statement |
alpne are sofficient to ans-
wer the question, while the
datain Statemment I alone ane
ot swfficienit by answer the
quarsHion

If the data in Statement
alone are sufficient e ans-
wer Hthe gquestion, while the
data in Statement | alone are
niol sufficient b amswer the
dquiesdiom.

iy

#

() IF the data im Statement |
alome orin Statement 11 alone:
are sufficient o answer the
quee=hion,

(D TF the data in both the State-
ments 1 and 11 are not suffi-
cient o answer the question,

IT the data in bodh the State-
ments | and 1 together are
nivessary b answer  Lhe
quicsidaon,

(E

What is the length of the train 7
L. The train crosses a pole in 25
secrmids.

1. Same tram crostes 3 216 m

Icmg Flt:lﬂn:lg'rn. im A3 secomds
What is the value of 1 4 L.'i ?
L 4x47y = 40 and 2y=2z
I 13422 = 51

Who earmed more profit, Mitin or
Ekta {im terms of amount) #

L Mitin purchased an item for
£ a0 and spld it for
¢ AN while Ekta pur-
chated am itemn for T 4800
aned sobd ik for © 4,100,

IT.  Nitin purchased an item for
T 5400 and sobd it for loss of
approximately 15 while Ekta
p!lq’rhaqr:d an item for ©
480 and sold it

What iz the difference bebween

the largesst and the smallest angle

of the mangle 7

L Mone of the angles of the
triamle 15 maore Eham 807 and
e arhe 15 500

.  Angles of the triangle are in
the rabics 60 7 : 5 respactively.

Whe among men, women oF
bows will completo same picoe of
work the fastest ?

. 9 men and B women can
complete the picce of work
in 15 d.a_'g.'u.

m 1z hu:l-!,.'s and B _!;irh; Can
complete the same piece of
work in X4 :I:!.'w:.

Drirections—{(. 31-35) Smdy the

following pie-chart and arswer Hhe
firllawwrimg queesticns—

31,

I

a3,

4.

Percenbwiise Digtribubion of

Students in Six Courges in a
University

Total numiber of Students = 17,200

Percentwise Dhistribotion of
Students

Number of students in B Tech
CEMETSe 05 appruximal:ﬂ}r what
per cent more than the number of
students in M, Tech course ?

1Al 57 {6 43
() 149 (D 143
(E} 157

1f X5 per cent of the total mamber
of studends in B AL course is garls
then the number of boys im B AL
opurse B oexactly equal to the
mumber pf stodents of which

Cpaarse ¢
{AY MSc (H] BSe
0 B Teh, {0 MLBAC

{El  Mone of these

What is the difference between
the total mamber of stadents in
M. 5c., B, Tech, and MEA
temethiet and the fofal narmber of
stdents n B.5e, M Tech. and B

A together 2
(A} 873 (B} A%
7] A=a (D) Aeg

{El Mone of these

What is the average number of
stupdents jin B, Tock, b, Tech and
B. A courses fogether ?

(A} 1b48 {B} 1542

1 1568 {2} 1668

(Bl Mone of these

Murmber of studenits in BMBA
CIMAFES 15 ..'l|'|n!'l-rq:l-:||:i|'||mr.::-'tl-,I what
pereent of the total mnumber of

smdemts im M5S0, and B.Sc
boercther

(Al 534 (B} 44

(1 34 ([ 44

{El 41



MNumber of Officers (in thousand) Becruited in Five Differont
Forces during Six Different years
Forces

Year Police B.5.F Dhefenge Coaut Goard | Commande

Nale | Female | Male | Female | Male | Fomale | Male | Female| Male | Female
204 71| &1 13| 32 155 &l 12 -1 17 1-1
IMT | 6| A2 18-l -2 154 | &3 18-4 A-3 15 22
MR | 1G] 5B 2| 12 252 | 58 a3 | I3 BT 35
M | 136k Tu -4 | 134 44| 92 121 | i 45
Mg | 1B | Ed 124 | &2 Al 124 244 [ Ld-5 32
Ml | 172 A2 13+ | 32 a55| 54 16 A1 =i 15

A6, In which Foroe did the roecruit-
ment of make efficers consistently
imcreasi from year 2006 (o 20117
(Al Paolicn
(B} BSF
(O Defemce
(L Crsast guand
(Ed  Commando

37 What was the approximale per
cent decrease in the number of
fomale  offlicers  pecroited  in
Defenoe o b year 2007 as com-
pared to the numbar of lemala
officers recrailed in Delenoe
the: year 2000 7

(Al 27 (B 41
(Cp 52 (o a7
(Ep 50

38, In which YEAT Was the diffrrrnoe
hetween the male and Female
nfficers in Coast HII.‘II‘-.‘] thirdd

[t 7
[A) 2000 (B) 27
(Ck 2008 (LY 2000
(E} 2011

34, What was the average number of
miale edficers recratled tn Police
force over all he vears Logether ?
(Al 14000 (B 16000
(800 (0 1200
(E}  Blomw af Lese

4k, Mumber ofmale officers recruibed
in BSF in the yoar R was
appraximately what per cont of
the: Eptal number of  female
pfficers recruited in Commando
force ower all the vears together ?

(A} 145 {F1 153
[ ) L
iEr 135

Drrections—iC) 41-45) Sady the
fellowing graph carefully to answer
the questions that fillow—

Mumber of Forelgn Tourdsts who
Visited Theee Different Places in
Five Different Days

+ Golden Tample
= Vayha Bonder
- Taj Makal

2 =

g2

3

Py

B i

E B (o T

=1 et :

3 GEEE : i 2

Man. Tues. Wed Thu. Fn.

Days

41. What - ix #he w i number
forcigm  fourists  whe  wvisited
Wagha Border on all the days
topether 7
[A) 154 (E) 172
T 1 (T 174
(E} MNone of these

42, Testal namber of foreign fourists
who visited all the three places
on Tuesday together is what pey
cent of the total number fomeign
toatrisls  who  visited  Wagha
Border on Meaday and Wednes-
day togethaer 7

(Al 168 18] 124
(i} 1z [ ] e
(E} 12

A%, [ owhich day was thie kbl T -
larr -_'-Ffl:m:!ill;n romrists who vigihed
all the three places  together
sorond et 7
[A) Momday
(B} Tuesday
(O} Wedne=day
(O Thnrsday
(E} Friday

44, What is the respective rabio bet-
wesh the nomber of  foereian
touirists wih visited Taj Mabhal on
Thursday and the momber of
fopeign foarisls whoe  visiled
Golden mple on Friday ?

(A 14:-% (B 513
(] 13:4 (D) 13:7
(E] Mone of thes

£5. U which da_-,r was the differenes
betweoen the number of forcizm
tourisks who visited l]'z|j Mlahal
and  Gplden '.I'r=1'|1.|:|||:. s
hi.Hhr':;!':'
{Ad M-:m-'_:la:lr
(B} Tuesday
11 'I.'l'r'1.111r':-:|.1,..1}'
() Thursday
[E] Friday

Directisns—i( 36-50] Study the
informabon carcfully Hoanswer the
quesstions that follpw—

[ & spotts evant, there ane betal
of five differenl events wdz. Hockey,
Vidley ball, Basket Ball, Kho-kho and
Kabbadi. Total number of plavers
pariicipating is 330 Twenly per cent
af the lotal number of playores is parli-
cipating in Hockey. Two-thirteenth of
the total number of players is parti-
cipabing in Volleyball. Number of
|'|r:| WIS p:.TI'irip:l:inF; in biasket Ball is
16 Less than the miomber of players
[ rHi |'|:|I:i:|'q_r. in |I|:|r]-:c:.r. Twr:ﬂr:.-' Fwes
per centof the total nurber of
players isparticipating in Kho-kho
Bamaining players are participating
im Kabbadi.

46, Mumber of players participaling
inn Basket ball 15 appraximately
what percent of e letal namsbes
of players  particpaling  in
Heckiey and Kabbadi bopgether ?

fAa) 25 (Bl 3D
() A (M 45
{E} 35

47, What is the differrenice hatwoen
the muamber of ]'.i|:|:.l'|:!Tl-i prlrl'i._-i-
|'I.I|.'i11|; in Kahbadi and the mom
ber of plavers parficipating in

Filﬁ.']-:n:r":'
[Al B (6 16
M) ia Ly 24

[E} Mome of these



48 What is the average mumber

50

]’j':.ﬂ:.:ﬂrl: Fl:nrri:'i'|;|a|:inl5'I m ".:’ullt'].'
ball, Basketball, Kho-kho and
Kabbadi together ?

(AF 114 (B) 116

LS (L 104

(El  Mone of these

What is the respechive ralio bet-
wistn  the number of players
parthcipating in Hockey, number
M]:ﬂajrvnm participating i basket-
ball and the mumber of plavers
participatmg in Volleyball ?

(A} 10:12:13
{B) 13:11:7
{1 13:11:9
D) 13:11:8

{El Mome of these

[ 35 per cent of the total omber
of plavers parficipating im volley -
Beall is fernale, what is the amber
of male players participating in
volleyball 7

{A) 56 (B} 52

{71 &2 (D &b

{El Mone of these
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